
  

S–5149   

B.A. DEGREE EXAMINATION, NOVEMBER 2024. 

First Semester 

Economics 

MICRO ECONOMICS – I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Adam Smith view on economics? 

 ö£õ¸Íõuõμ® £ØÔ¯ Bh® ìªzvß P¸zx GßÚ? 

2. Define micro economics. 

 ~so¯À ö£õ¸Íõuõμ® & Áøμ¯Ö. 

3. State the law of demand. 

 ÷uøÁ Âvø¯ GkzxUTÖP. 

4. What is market? 

 \¢øu GßÓõÀ GßÚ? 

5. Define ‘Utility’. 

 £¯ß£õk & Áøμ¯Ö. 

6. What is consumer equilibrium? 

 ~Pº÷Áõº \©{ø» GßÓõÀ GßÚ? 
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7. Write the meaning of ‘elasticity’. 

 ‘ö|QÌa]’ Gß£uß ö£õ¸øÍ GÊxP. 

8. Define ‘Consumer surplus’. 

 ‘~Pº÷Áõº E£›’ Áøμ¯Ö. 

9. What is production function? 

 EØ£zva \õº¦ GßÓõÀ GßÚ? 

10. Write a note on ‘entrepreneur’. 

 öuõÈÀ •øÚ÷Áõº £ØÔ SÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) State the nature of economics. 

  ö£õ¸Íõuõμzvß C¯À¦PøÍ GkzxU TÖP. 

Or 

 (b) Classify the features of inductive method. 

  öuõSzuõ´Ä •øÓ°ß ußø©PøÍ ÁøP¨£kzxP. 

12. (a) Why does demand curve slopes downwards? 

  ÷uøÁU÷Põk Hß RÌ ÷|õUQa ö\ÀQÓx? 

Or 

 (b) Write about the various types of goods. 

  £À÷ÁÖ £sh[PÎß ÁøPPøÍ GÊxP. 

13. (a) State the assumptions of diminishing marginal 
utility.  

  SøÓ¢u ö\À £¯ß£õmk Âv°ß Gk÷PõÒPøÍ 
GkzxUTÖP. 

Or 



S–5149 

  

  3

 (b) Describe the properties of indifference curve. 

  \©÷|õUS ÁøÍ÷Põmiß C¯À¦PøÍ ÂÍUSP. 

14. (a) State the importance of elasticity of demand. 

  ÷uøÁ ö|QÌa]°ß £¯ß£õmøh GkzxUTÖP. 

Or 

 (b) Explain the concept of consumer’s surplus with a 
diagram. 

  ~Pº÷Áõº E£› £ØÔ Áøμ£hzxhß ÂÍUSP. 

15.  (a) Mention the characteristics of land. 

  {»zvß Snõv\¯[PøÍ GkzxøμUP. 

Or 

 (b) Identify the stages of law of variable proportions. 

  ©õÖ£k® ÂQu[PÎß Âv°ß £À÷ÁÖ {ø»PøÍU 
Psk¤i. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Analyse the scope of economics. 

 ~soÚ¨ ö£õ¸Íõuõμzvß £μ¨ö£Àø»PøÍ £Szuõ´P. 

17. Elucidate the demand and supply equilibrium in the 
market.   

 A[Põi°À ÷uøÁ ©ØÖ® AÎ¨¦PÐUQøh÷¯¯õÚ 
\©{ø»ø¯ ÂÍUSP. 

18. Evaluate consumer’s equilibrium with the help of 
indifference curve analysis. 

 \©÷|õUS ÁøÍ÷Põmk B´Âß xønUöPõsk 
~Pº÷Áõº \©{ø»ø¯ ©v¨¥k ö\´P. 
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19. Enumerate the methods of measuring elasticity of 
demand. 

 ÷uøÁ ö|QÌa]ø¯ AÍÂk® •øÓPøÍ PnURk ö\´P. 

20. Summarise the various stages of returns to scale. 

 AÍøÁ ÂøÍÄ Âv°ß £À÷ÁÖ {ø»PøÍ 
öuõSzxøμUP. 

  
———————— 



  

S–5150   

B.A. DEGREE EXAMINATION, NOVEMBER 2024 

First Semester 

Economics 

BUSINESS STATISTICS – I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Explain the term collection of data. 
 uμÄ ÷\P›¨¦ P¸zvøÚ ÂÍUSP. 

2. What is meant by sampling? 
 TöÓk¨¦ Gß£uß ö£õ¸Ò GßÚ? 

3. Write the meaning of Tabulation. 
 AmhÁøn¨£kzu¼ß ö£õ¸ÎøP GÊxP. 

4. Define diagram. 
 ÂÍUP¨£h® Áøμ¯Ö. 

5. Define the median with formula. 
 Cøh{ø»°ß `zvμzxhß Áøμ¯Ö. 

6. Find the mode of 3, 3, 7, 8, 10, 11, 10, 12, and 10. 

 3, 3, 7, 8, 10, 11, 10, 12, and 10 ß •Pøh PnUQkP. 

7. What are the types of measures of dispersion? 
 ]uÓÀ AÍøÁ°ß ÁøPPÒ ¯õøÁ? 

8. What is quartile deviation? 
 PõÀ©õÚ Â»UP® GßÓõÀ GßÚ? 
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9. Write down the Bowley’s formula of coefficient of 
skewness. 

 ö£Í÷»Âß ÷PõmhUöPÊÂß `zvμzøu GÊxP. 

10. What do you know about kurtosis? 
 umhÍøÁ £ØÔ }Ãº AÔÁx ¯õx? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) Explain the Scope and Nature of Statistics. 
  ¦ÒÎ°¯¼ß £μ¨ö£»ø»PÒ ©ØÖ® C¯À¦PøÍ 

ÂÍUSP. 

Or 

 (b) What is Primary Data? Explain the methods of 
Collecting Primary Data. 

  •uÛø» ¦ÒÎ Â£μ® GßÓõÀ GßÚ? AuøÚ 
÷\P›US® •øÓPøÍ ÂÍUSP. 

12. (a) State the Parts and Format of a Table. 
  J¸ AmhÁøn°ß £SvPÒ ©ØÖ® ÁiÁ[PøÍ 

TÖP. 

Or 

 (b) Explain the different types of Graphs. 
  Áøμ£hzvß £À÷ÁÖ ÁøPø¯ ÂÍUSP. 

13. (a) What are the uses of averages? 
  \μõ\›PÎß £¯ßPÒ ¯õøÁ? 

Or 

 (b) Find the median for the following distribution. 

Marks : 10-20 20-30 30-40 40-50 50-60 60-70 70-80 

No. of students : 6 5 15 14 10 12 8 

 RÌPsh £μÁ¾UPõÚ Cøh{ø»ø¯ Psk¤i. 

©v¨ö£sPÒ  : 10-20 20-30 30-40 40-50 50-60 60-70 70-80

©õnÁº GsoUøP : 6 5 15 14 10 12 8 
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14. (a) Explain the meaning and method of calculating 
“Quartile Deviation”. 

  PõÀ©õÚ Â»UPzvß ö£õ¸Ò TÔ Aøu PnUQk® 
•øÓø¯ ÂÍUSP. 

Or 

 (b) If mean = 20; S.D = 5. Find C.V. 

  \μõ\› = 20; S.D = 5. GÛÀ C.V. ø¯ Psk¤i. 

15.  (a) List the merits of Kurtosis. 

  umhÍøÁ°ß {øÓPøÍ £mi¯¼kP. 

Or 

 (b) Calculate Coefficient of Skwness from the following 
table: 

Mark : 0-10 10-20 20-30 30-40 40-50

No. of students : 8 11 26 9 6 

 RÌPsh uμÄPÐUPõÚ ÷PõmhUöPÊÂøÚ Psk¤i. 

©v¨ö£sPÒ : 0-10 10-20 20-30 30-40 40-50

©õnÁº GsoUøP : 8 11 26 9 6 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What is statistics? Describe the characteristics of 
Statistics. 

 ¦ÒÎ°¯À GßÓõÀ GßÚ? ¦ÒÎ°¯¼ß Snõv\¯[PøÍ 
ÂÁ›UP. 

17. What is Classification of Data? Explain the importance of 
Classification of Data. 

 uμÄPøÍ ÁøP¨£kzuÀ GßÓõÀ GßÚ? Auß 
•UQ¯zxÁzøu ÂÍUSP. 
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18. Calculate the arithmetic mean of the following data by: 

 (a) Direct method  

 (b)  Short cut method 

  5, 10, 15, 20, 30, 40, 50, 30 

 RÌ Psh uμÄPÐUPõÚ Tmk \μõ\›ø¯ PnUQkP. 

 (A) ÷|º•øÓ 

 (B) SÖUSöÁmk •øÓ 

  5, 10, 15, 20, 30, 40, 50, 30 

19. Calculate standard deviation from the following data: 

Age : 20-25 25-30 30-35 35-40 40-45 45-50 50-55

No. of employees : 170 110 80 45 40 30 25 

 RÌPsh uμÄPÐUPõÚ vmh Â»UP® PnUQkP. 

Á¯x : 20-25 25-30 30-35 35-40 40-45 45-50 50-55

EøÇ¨£õÍº GsoUøP : 170 110 80 45 40 30 25 

20. Find out Karl Pearson’s coefficient of skewness from the 
data given below. 

Profit (Rs. lakhs) : 70-80 80-90 90-100 100-110

Frequency : 12 18 35 42 

Profit (Rs. laksh) : 110-120 120-130 130-140 140-150

Frequency : 50 45 30 8 

 RÌPsh uμÄPÐUPõÚ PõºÀ ¦¯ºéÛß 
÷PõmhUöPÊÂøÚ Psk¤i. 

C»õ£® : 70-80 80-90 90-100 100-110

Aø»öÁs : 12 18 35 42 

C»õ£® : 110-120 120-130 130-140 140-150

Aø»öÁs : 50 45 30 8 

———————— 
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B.A. DEGREE EXAMINATION, NOVEMBER 2024 

Economics 

Allied — LABOUR ECONOMICS 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Write the meaning of labour. 

 EøÇ¨£õÍº ö£õ¸Ò GÇxP. 

2. How does the labour turnover can be measured? 

 EøÇ¨£õÍº ¦μÎøÁ GÆÁõÖ AÍÂkÁx? 

3. Write a short note on industrial dispute. 

 öuõÈÀ uPμõÖ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

4. State the preventional steps of industrial disputes. 

 öuõÈÀ uPμõÖPøÍz ukUS® •øÓPøÍU TÖP. 

5. Define wages. 

 T¼ £ØÔ Áøμ¯Ö. 

6. What are the methods of wage payment? 

 T¼ ö\¾zuÀ •øÓPÒ ¯õøÁ? 

7. What is meant by social security measures? 

 \‰P® £õxPõ¨¦ |hÁiUøPPÒ GßÓõÀ GßÚ? 
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8. Apprise the hours of work in unorganised sector. 
 Aø©¨¦\õμõ xøÓ°À öuõÈ»õÍºPÐUPõÚ ÷Áø» ÷|μ® 

£ØÔ öu›ÂUPÄ®. 

9. Point out the causes of child labour. 
 SÇ¢øuz öuõÈ»õÍº E¸ÁõÁuß Põμn[PøÍU 

SÔ¨¤kP. 

10. Infer any two problems of women workers. 
 ö£s öuõÈ»õÍºPÎß H÷uÝ® Cμsk ¤μa\øÚPøÍ 

AÝ©õÛUP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the characteristics of labour? 
  EøÇ¨¤ß C¯À¦PÒ ¯õøÁ? 

Or 

 (b) Explain the measures to reduce absenteeism. 
  Á¸øP°ßø©ø¯z SøÓ¨£uØPõÚ ÁÈ•øÓPøÍ 

ÂÍUSP. 

12. (a) Interpret the causes for industrial dispute. 
  öuõÈÀ uPμõÖUPõÚ Põμn[PøÍ ÂÍUSP. 

Or 

 (b) State the effects of industrial disputes. 
  öuõÈÀ uPμõÖPÎß ÂøÍÄPøÍU TÖP. 

13. (a) What are the types of wages? 
  T¼°ß ÁøPPÒ ¯õøÁ? 

Or 

 (b) Mention the causes for wage difference. 
  T¼ ÷ÁÖ£õmiØPõÚ Põμn[PøÍ SÔ¨¤kP. 
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14. (a) Explain the occupational hazards. 
  öuõÈÀ\õº B£zxPøÍ ÂÍUSP. 

Or 

 (b) Discuss the role of education in worker's life. 
  öuõÈ»õÍº ÁõÌÂÀ PÀÂ°ß •UQ¯zxÁ® £ØÔ 

ÂÁõv. 

15. (a) List out the constitutional provisions to regulate 
child labour. 

  SÇ¢øuz öuõÈ»õÍº Áμß£kzu¾UPõÚ \mh 
•øÓPøÍ¨ £mi¯¼kP. 

Or 

 (b) Write the status of women workers in India. 
  C¢v¯õÂÀ ö£s öuõÈ»õÍº {ø» £ØÔ GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the causes for migration of labour. 
 öuõÈ»õÍº Ch¨ö£¯ºÄUPõÚ Põμn[PøÍ ÂÍUSP. 

17. Discuss the forms of industrial disputes. 
 öuõÈÀ uPμõÖPÎß ÁiÁ[PÒ £ØÔ ÂÁõvUP. 

18. Explain the factors affecting real wages. 
 Esø©U T¼ø¯ £õvUS® PõμoPøÍ ÂÍUSP. 

19. Analyse the benefits provided under social security 
measures in India. 

 C¢v¯õÂÀ \•P¨ £õxPõ¨¦z vmhzvß RÌ ÁÇ[P¨£k® 
|ßø©PøÍ¨ £Szuõ´P. 

20. Describe the protective measures for working women's 
problems. 

 ö£s öuõÈ»õÍº GvºöPõÒÐ® ¤μa\øÚPÎ¼¸¢x 
AÁºPøÍ GÆÁõÖ £õxPõ¨£x Gß£øu ÂÁ›UPÄ®. 

————————  
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B.A. DEGREE EXAMINATION, NOVEMBER 2024 

Second Semester 

Economics 

MICRO ECONOMICS – II 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are economies of scale? 

 ]UPÚ[PÒ ¯õøÁ? 

2. What is opportunity cost? 

 Áõ´¨¦a ö\»Ä GßÓõÀ GßÚ? 

3. Define the term ‘market’. 

 \¢øu Gß£øu Áøμ¯Ö. 

4. Write the meaning of price. 

 Âø» Gß£uß ö£õ¸Ò GÊx. 

5. What is price discrimination? 

 Âø»÷£u® Gß£x GßÚ? 

6. What is dumping? 

 ö£õ¸ÍõuõμzvÀ vo¨¦ GßÓõÀ GßÚ? 
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7. Define quasi-rent.  

 ÁøμÂ»UPn® : ÷£õ¼Áõμ® 

8. What is marginal productivity? 

 CÖv{ø» EØ£zvz vÓß GßÓõÀ GßÚ? 

9. Define hoarding. 

 ÁøμÂ»UPn® : £xUPÀ 

10. What is net profit? 

 {Pμ»õ£® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) State the relation between average cost and 
marginal cost. 

  \μõ\› ö\»ÂØS®, CÖv{ø» ö\»ÂØS® EÒÍ 
öuõhºø£U TÖP. 

Or 

 (b) List the importance of revenue curves. 

  Á¸©õÚ ÁøÓ÷PõkPÎß •UQ¯zxÁzøu 
Á›ø\¨£kzxP. 

12. (a) Describe the features of perfect competition. 

  {øÓÄ¨ ÷£õmi°ß ußø©PøÍ ÂÁ›. 

Or 

 (b) Summarise price discrimination degrees. 

  Âø»÷£u {ø»PøÍ öuõSzxøμUP. 
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13. (a) Classify the different types of market. 

  \¢øu ÁøPPøÍ ÁøP¨£kzxP. 

Or 

 (b) Identify the special features of monopolistic 
competition. 

  \ºÁõwÚ¨ ÷£õmi°ß ]Ó¨¦ A®\[PøÍ 
GkzxøμUP. 

14. (a) Explain the marginal productivity theory of 
distribution. 

  £QºÂß CÖv{ø» EØ£zvzvÓß ÷Põm£õmiøÚ 
ÂÍUSP. 

Or 

 (b) State the importance of Ricardian theory of rent. 

  ›Põº÷hõÂß £õμU ÷Põm£õmiß •UQ¯zxÁzøuU 
TÖP. 

15.  (a) Express innovation theory of profit. 

  C»õ£® £ØÔ¯ ¦zuõUQU÷Põm£õmiøÚ ÂÍUSP. 

Or 

 (b) Explain the important terms of loanable funds. 

  Phß {v°ß •UQ¯©õÚ ÷uøÁUSÔ¨¦PøÍ 
ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the nature of short run an long run cost curves. 

 SÖQ¯ Põ» ©ØÖ® }sh Põ» ö\»ÄU÷PõkPÎß 
ußø©PøÍ ÂÁõv. 

17. Outline the price and output determination under perfect 
competition.  

 {øÓÄ¨ ÷£õmi°À Âø» ©ØÖ® EØ£zvø¯ wº©õÛzuÀ 
£ØÔ ÂÍUSP. 
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18. Demonstrate the price and output determination under 
monopoly. 

 \ºÁõwÚzvÀ Âø» ©ØÖ® EØ£zvø¯ wº©õÛzuÀ £ØÔ 
ÂÁ›UP. 

19. Explain subsistence theory of wages. 

 £μõ©›¨¦ T¼U ÷Põm£õk £ØÔ ÂÍUSP. 

20. Illustrate Keynesian liquidity preference theory. 

 Rßêß öμõUP Â¸¨£U ÷Põm£õmøh GkzxøμUP. 

———————— 
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B.A. DEGREE EXAMINATION, NOVEMBER 2024 

Second Semester 

Economics 

BUSINESS STATISTICS – II 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Correlation. 

 JmkÓÄ Áøμ¯Ö. 

2. Name the type of correlation when 1+=r . 

 1+=r  ß JmkÓÄ ÁøP ö£¯º GßÚ? 

3. State the meaning of regression. 

 öuõhº¦ ÷£õUQß ö£õ¸Ò TÖP. 

4. Write the Regression equations 

 öuõhº¦÷£õUS \©ß£õkPøÍ GÊxP. 

5. What do you mean by inverse probability? 

 Gv›øh {PÌuPÄ EÚx ö£õ¸Ò ¯õx? 

6. What is meant by permutation? 

 Á›ø\©õØÓ® Gß£uß ö£õ¸Ò ¯õx? 
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7. Define time series. 

 Põ»zöuõhº Á›ø\ Áøμ¯Ö. 

8. What is Trend? 

 ÷£õUS GßÓõÀ GßÚ? 

9. Define Index Numbers. 

 SÔ±möhsPÒ Áøμ¯Ö. 

10. Why Fisher’s formula is called ideal? 

 ¤\›ß `zvμ® Hß ]Ó¢ux GÚ AøÇUP¨£kQÓx? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) What are the different types correlation? 

  JmkÓÂß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

Or 

 (b) Calculate the coefficient of correlation between  
X and Y for the following data: 

X : 1 2 4 5 7 8 10

Y : 2 6 8 10 14 16 20

  RÌPsh uμÄPÐUPõÚ X ©ØÖ® Y ß Cøh°»õÚ 
JmkÓÄ öPÊÂøÚ PnUQkP. 

X : 1 2 4 5 7 8 10

Y : 2 6 8 10 14 16 20
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12. (a) Explain the difference between regression and 
correlation. 

  öuõhº¦ ÷£õUS ©ØÖ® JmkÓÂØQøh÷¯¯õÚ 
÷ÁÖ£õmøh ÂÍUSP. 

Or 

 (b) Write two normal equations which are used for 
finding the values of ‘a’ and ‘b’ in the least squares 
method for regression equation. 

  SøÓ¢u ÁºUP •øÓø¯ £¯ß£kzv öuõhº¦ ÷£õUS 

\©ß£õkPÎß ‘a’ ©ØÖ® ‘b’ ©v¨¤ß Ai¨£øh°À 
Cμsk C¯À£õÚ \©ß£õkPøÍ GÊxP. 

13. (a) State and explain Addition theorem of probability. 

  {PÌuPÂØPõÚ TmhÀ ÷uØÓzvøÚ ÂÍUQU TÖP. 

Or 

 (b) Two dice are tossed. What is the probability that the 
sum shown will be 7 or 11? 

  Cμsk uõ¯[PÒ _sh£kQÓx. Av¼¸¢x  
7 AÀ»x 11 Á¸ÁuØPõÚ {PÌuPÄ ¯õx? 

14. (a) Explain with details about Seasonal fluctuation in 
time series. 

  Põ»z öuõhº Á›ø\°ß £¸ÁPõ» ©õÖuÀPÒ £ØÔ 
ÂÍUSP. 

Or 

 (b) What are the components of time series? 

  Põ»z öuõhº Á›ø\°ß EmTÖPÒ ¯õøÁ? 
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15.  (a) State the main difference between weighted and 
unweighted index numbers. 

  {øÓ°mh ©ØÖ® {øÓ°h£hõu SÔ±möhsPÎß 
•UQ¯ ÷ÁÖ£õmiøÚ TÖP. 

Or 

 (b) From the following data construct an index number: 

Commodities : A B C D E 

Price in 1994 (Rs.) : 50 40 80 110 20

Price in 1995 (Rs.) : 70 60 90 120 20

  RÌPsh Â£μ[PÎ¼¸¢x J¸ SÔ±möhsPøÍ 
Pmhø©UP. 

£sh[PÒ : A B C D E 

1994À Âø» (¹£õ°À.) : 50 40 80 110 20

1995À Âø» (¹£õ°À.) : 70 60 90 120 20

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Calculate Karl Pearson’s coefficient of correlation 
between capital employed and profit obtained 

Capital Employed : 10 20 30 40 50 60 70 80 90 100

Profit obtained : 
(Rs. Thousand) 

2 4 8 5 10 15 14 20 22 30

 £¯ß£kzu¨£mh ‰»uÚzvØS® ©ØÖ® C»õ£zvØS©õÚ 
PõºÀ¤¯ºéÛß JmkÓÂøÚ PnUQkP. 

£¯ß£kzu¨£mh ‰»uÚ® : 10 20 30 40 50 60 70 80 90 100

C»õ£® : 
(¹. Thousand) 

2 4 8 5 10 15 14 20 22 30
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17. From the given information find out regression coefficient 
of x only. ,524,40,56,8 2 =Σ=Σ=Σ= dxdydxN  

,2562 =Σdy  364=Σdxdy . 

 RÌPsh Â£μ[PÎ¼¸¢x öuõhº¦÷£õUSU öPÊÂß x 
©v¨ø£ Psk¤i. ,524,40,56,8 2 =Σ=Σ=Σ= dxdydxN  

,2562 =Σdy  364=Σdxdy . 

18. A fair die is rolled, what is the probability of getting an 
odd number. 

 J¸ uõ¯® E¸mh¨£k® ö£õÊx JØøÓ¨£øh Gs 
Á¸ÁuØPõÚ {PÌuPÄ ¯õx? 

19. Find trend values for the following data number of 
students in a collage using 3 yearly moving averages 
method: 

Year : 1994 1995 1996 1997 1998 

No. of students : 1,500 1,800 1,700 1,750 1,850

Year : 1999 2000 2001 2002 2003 

No. of students : 1,950 1,900 2,000 2,200 2,200

 J¸ PÀ¿›°ß ©õnÁºPÎß Â£μ[PøÍ öPõsk  
3 BsiØPõÚ |P¸® \μõ\›ø¯ £¯ß£kzv ÷£õUS 
©v¨ø£ Psk¤i. 

Bsk: 1994 1995 1996 1997 1998 

©õnÁº GsoUøP: 1,500 1,800 1,700 1,750 1,850

Bsk: 1999 2000 2001 2002 2003 

©õnÁº GsoUøP: 1,950 1,900 2,000 2,200 2,200
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20. Find out the index number for the year 2004 from the 
following data using the weighted average of price 
relative’s method. 

(Commodity) (Weight) Price 

  2000 20004

A 4 50 100 

B 3 30 90 

C 5 20 10 

D 3 60 90 

E 5 20 120 

 RÌPsh Â£μ[PøÍ £¯ß£kzv Âø» \õº¢u 
•øÓ°»õÚ {øÓ°mh \μõ\›°ß Ai¨£øh°À 
2004UPõÚ SÔ±möhsøÚ PõsP. 

£sh[PÒ Gøh Âø» 

  2000 20004

A 4 50 100 

B 3 30 90 

C 5 20 10 

D 3 60 90 

E 5 20 120 

  
———————— 
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Allied — MANAGERIAL ECONOMICS 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is managerial economics? 

  ÷©»õsø©¨ ö£õ¸Íõuõμ® GßÓõÀ GßÚ? 

2. State any two assumptions of sales - revenue 
maximisation model. 

 ÂØ£øÚ Á¸Áõ´ AvP›¨¦ ©õv›°ß H÷uÝ® Cμsk 
Gk÷PõÒPøÍU TÖP. 

3. How does market structure can be measured? 

 A[Põi Aø©¨ø£ GÆÁõÖ AÍÂkÁx? 

4. What are the five forces? 

 I¢x \UvPÒ ¯õøÁ? 

5. Define target return pricing. 

 C»US v¸®£ Âø» £ØÔ Áøμ¯Ö. 

6. Write a note on Skimming pricing strategy. 

 SøÓzuÀ Âø» {ºn¯® £ØÔ SÔ¨¦ ÁøμP. 

Sub. Code 
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7. List out the components of the marketing mix. 
 A[PõiU P»øÁ°ß EÒÍhUP[PøÍU TÖP. 

8. Write the determinants of advertising elasticity of 
demand. 

 ÷uøÁ°ß ÂÍ®£μ ö|QÌa]ø¯z wº©õÛUS® 
PõμoPøÍ GÊxP. 

9. How to estimate cash flows? 
 £n¨ ¦ÇUPzøu GÆÁõÖ ©v¨¤kÁx? 

10. Define net present value. 
 {Pμ uØ÷£õøu¯ ©v¨¦ £ØÔ Áøμ¯Ö. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the nature and scope of managerial 
economics. 

  ÷©»õsø©¨ ö£õ¸Íõuõμzvß C¯À¦ ©ØÖ® 
£μ¨ö£Àø» £ØÔ ÂÍUSP. 

Or 

 (b) Write about managerial utility maximizing model. 

  ÷©»õsø© {ºÁõP £¯ß£õmk AvP›¨¦ ©õv› 
ÁiÁ® £ØÔ GÊxP. 

12. (a) State the generic strategies for competitive 
advantage. 

  J¨¥mk AqT»zvØPõÚ ö£õxÁõÚ EUvPøÍU 
TÖP. 

Or 

 (b) Explain how product differentiation acts as barrier 
to entry? 

  ö£õ¸mPÎß ÷ÁØÖø© GÆÁõÖ ¦v¯ 
{ÖÁÚ[PÎß EÒ~øμÄUS uøh¯õP EÒÍx 
Gß£øu ÂÍUSP. 
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13. (a) What are the degrees of price discrimination? 

  Âø»¨ £õS£õmiß AÍÂÚ[PÒ ¯õøÁ? 

Or 

 (b) What is penetration strategy? 

  Fk¸ÁÀ EUv GßÓõÀ GßÚ? 

14. (a) Write the Dorfman - Steiner condition for 
advertising expenditure. 

  ÷hõºL÷©ß & ìjÚº ÂÍ®£μa ö\»ÄUPõÚ 
{£¢uøÚ £ØÔ GÊxP. 

Or 

 (b) Explain the product policy. 

  £shP[PÐUPõÚ öPõÒøP £ØÔ ÂÍUSP. 

15. (a) State the methods of investment evaluation. 

  •u½møh ©v¨¥k ö\´²® •øÓPÒ £ØÔ TÖP. 

Or 

 (b) Interpret the capital - asset price model. 

  ‰»uÚ ö\õzx Âø» ©õv› £ØÔ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the managerial utility maximizing model. 

 {ºÁõP¨ £¯ß£õmk AvP›¨¦ ©õv› £ØÔ ÂÁõv. 

17. Explain the structure conduct performance theory. 

 Pmhø©¨¦ |hzøu ö\¯ÀvÓß ÷Põm£õk £ØÔ ÂÍUSP. 
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18. Analyse the approaches to pricing. 

 Âø» {ºn¯® ö\´ÁuØPõÚ AqS•øÓPøÍ¨ 

£Szuõ´P. 

19. Examine the product mix decisions. 

 £shPU P»øÁ wº©õÚ[PøÍ B´Ä ö\´P. 

20. Evaluate the investment selection process. 

 •u½mk ÷uºÄ ö\¯À•øÓPøÍ ©v¨¤kP. 

————————  
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Economics 

MACRO ECONOMICS — I 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define National Income. 

 ÷u]¯ Á¸©õÚzøu Áøμ¯Ö. 

2. What is mean by Gross domestic product growth rate? 

  ö©õzu EÒ|õmk EØ£zv ÁÍºa] ÂQu® GßÓõÀ GßÚ? 

3. What is Wage? 

 Fv¯® GßÓõÀ GßÚ? 

4. What do you understand by Price? 

 Âø» ‰»® } GßÚ ¦›¢x öPõÒQÓõ´? 

5. Write a short note on investment. 

 •u½k £ØÔ¯ ]Ö SÔ¨ø£ GÊxP? 

6. Give a note on under employment. 

 SøÓ¢u ÷Áø» Áõ´¨¦ £ØÔ¯ SÔ¨¦ ÁøμP. 
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7. Define inflation. 

 £nÃUPzøu Áøμ¯Ö. 

8. What is inflationary gap? 

 £nÃUP CøhöÁÎ GßÓõÀ GßÚ? 

9. What do you understand by income? 

 Á¸©õÚ® ‰»® } GßÚ ¦›¢x öPõÒQÓõ´? 

10. Give a note on consumption function. 

 ~PºÄ ö\¯À£õk £ØÔ¯ SÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List out the measuring GDP national income 
accounting. 

  ö©õzu EÒ|õmk EØ£zv°ß ÷u]¯ Á¸©õÚU 
PnUQ¯ø»¨ £mi¯¼kP. 

Or 

 (b) Briefly explain about the income approach. 

  Á¸©õÚ AqS•øÓø¯ _¸UP©õP ÂÍUSP. 

12. (a) Discuss the aggregate demand and aggregate 
supply. 

  ö©õzu ÷uøÁ ©ØÖ® ö©õzu Â{÷¯õPzøu¨ £ØÔ 
ÂÁõv. 

Or 

 (b) Mention the wage and price flexibility. 

  Fv¯® ©ØÖ® Âø» ö|QÌÄzußø©ø¯U 
SÔ¨¤kP. 
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13. (a) Explain the marginal propensity to consume curve. 
  ÁøÍøÁ ~P¸® ÂÎ®¦ |õmhzøu ÂÍUSP. 

Or 

 (b) Explain the underemployment equilibrium. 
  ÷Áø»°ßø© \©{ø»ø¯ ÂÍUSP. 

14. (a) What are the different types of inflation? 
  £nÃUPzvß £À÷ÁÖ ÁøPPÒ GßÚ? 

Or 

 (b) Discuss the consumer price index and wholesale 
price index. 

  ~Pº÷Áõº Âø»U SÔ±k ©ØÖ® ö©õzu Âø»U 
SÔ±møh¨ £ØÔ ÂÁõv. 

15. (a) List out the criticisms of permanent income 
hypothesis. 

  {μ¢uμ Á¸©õÚU P¸x÷PõÒ «uõÚ Â©º\Ú[PøÍ¨ 
£mi¯¼kP. 

Or 

 (b) Mention the assumption of absolute income 
hypothesis. 

  AÝ©õÚ •Êø©¯õÚ Á¸©õÚU P¸x÷PõøÍU 
SÔ¨¤kP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Examine the circular flow of national income. 
 ÷u]¯ Á¸©õÚzvß Ámh Kmhzøu B´Ä ö\´P. 

17. Analyze the employment and output determination in 
classical model. 

 öuõßø© Põ» ©õv›°À ÷Áø»Áõ´¨¦ ©ØÖ® 
öÁÎ±mk wº©õÚzøu £S¨£õ´Ä ö\´P. 
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18. Elucidate the Keynes’s critique of classical theory. 

 öuõßø© ÷Põm£õmiß «uõÚ ÷á.G®. Rßì Â©º\Úzøu 
öuÎÄ£kzxP. 

19. Analyze the classical theory of inflation. 

 £nÃUPzvß öuõßø© ÷Põm£õmøh £S¨£õ´Ä ö\´P. 

20. Examine the Life cycle hypothesis. 

 ÁõÌUøP _ÇØ] P¸x÷PõøÍ Bμõ´P. 
————————  
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. State the meaning of Logarithms. 

 ©hUøP°ß ö£õ¸øÍU TÓÄ®. 

2. Find Log of 144. 

 Log of 144 ø¯U PõsP. 

3. What is Linear Equation? 

 ÷|›¯À \©ß£õk GßÓõÀ GßÚ? 

4. 1299 +=+ xx , find the value of x . 

 1299 +=+ xx  GÛÀ xß ©v¨ø£ PõsP. 

5. What is Set Theory? 

 Pn[PÒ GßÓõÀ GßÚ? 

6. Write a short note on Equality of sets. 

 \©{ø» Pn[PøÍ £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 
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7. Give the meaning of Quadratic Equation. 

 C¸£ia \©ß£õk Gß£uß ö£õ¸øÍUöPõk. 

8. Diagrammatically explain the Linear Function. 

 ÷|›¯À ö\¯À£õmøh Áøμ£h©õP ÂÍUPÄ®. 

9. Define Matrix. 

 AoPøÍ £ØÔ Áøμ¯ÖUPÄ®. 

10. If 







=

76
51

A  and 







=

68
210

B , find BA − . 

 







=

76
51

A  ©ØÖ® 







=

68
210

B  GÛÀ BA − ø¯U PõsP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Evaluate: 
08.21

2.1302.76 ×
. 

   ©v¨¤kP: 
08.21

2.1302.76 ×
. 

Or 

 (b) Write a short note on Laws of operation. 

  ö\¯À£õmk ÂvPÒ £ØÔ¯ J¸ ]Ö SÔ¨ø£ 
GÊx[PÒ. 

12. (a) Solve the equation 0523 2 =−+ xx . 

  0523 2 =−+ xx  \©ß£õmøh wºUP. 

Or 

 (b) Briefly explain the theory of indices. 

  SÔ±kPÎß ÷Põm£õmøh _¸UP©õP ÂÍUPÄ®. 
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13. (a) If },,{},,,,,,{ edcBfedcbaA ==  and },{ eaC =  verify 
that  

  (i) )()()( CABACBA ∩∪∩=∪∩  and  

  (ii) CBCB ′∩′=′∪ )(  by },,,,,{ fedcbaU = . 

  },,{},,,,,,{ edcBfedcbaA ==  ©ØÖ® },{ eaC =  GÛÀ 
RÌUPsh \©ß£õmøh {¹¤UPÄ®. 

  (i) )()()( CABACBA ∩∪∩=∪∩ ©ØÖ® 

  (ii) CBCB ′∩′=′∪ )(  Ax },,,,,{ fedcbaU = . 

Or 

 (b) Briefly explain the Laws of set operation. 
  Pn[PÎß ö\¯À£õmiß ÂvPøÍ _¸UP©õP 

ÂÍUPÄ®. 

14. (a) If x - intercept is 4 and y - intercept is 5, find the 
equation of the straight line. 

  x & öÁmkzxsk 4 ©ØÖ® y & öÁmkzxsk 5, 
GÛÀ ÷|º÷Põmiß \©ß£õmøh PõsP. 

Or 

 (b) Obtain the slope of the line joining the two points 
(5,3) and (2,1). 

  (5,3) ©ØÖ® (2,1) BQ¯ Cμsk ¦ÒÎPøÍ 
CønUS® ÷Põmiß \õ´øÁ¨ ö£ÓÄ®. 

15. (a) If 







=

43
21

A  and 







=

87
65

B , verify 

TTT BABA +=+ )( . 

  







=

43

21
A  ©ØÖ® 








=

87

65
B  GÛÀ 

TTT BABA +=+ )( ø¯ \›£õºUP. 

Or 

 (b) Explain the types of Matrix. 
  AoPÎß ÁøPPøÍ ÂÁ›. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Evaluate: 
02.13

24.122.22 ×
 (use Logarithms). 

 ©v¨¤kP: 
02.13

24.122.22 ×
 (©hUøP AmhÁøn 

£¯ß£kzv).  

17. Solve the equation 03134 2 =++ xx  using the standard 
formula. 

 03134 2 =++ xx  GßÓ \©ß£õmøh `zvμzøu 
£¯ß£kzv wºÄ PõnÄ®. 

18. Explain the types of functions. 

 \©ß£õmiß ÁøPPøÍ ÂÁ›. 

19. Describe the types of sets. 

 Pn[PÎß ÁøPPøÍ Bμõ´P. 

20. Solve the following equations by Cramer's rule. 

 
237

1332

21

21

=+
=+

xx

xx
 

 Qμõ©›ß Âvø¯¨ £¯ß£kzv \©ß£õmøh wºUPÄ®. 

 
237

1332

21

21

=+
=+

xx

xx
 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Economic Growth. 

 ö£õ¸Íõuõμ ÁÍºa] Gß£øu Áøμ¯Ö. 

2. What are non-economic factors? 

 ö£õ¸Íõuõμ ©ØÓ PõμoPÒ ¯õøÁ? 

3. Define HRD. 

 HRD Áøμ¯Ö. 

4. What is meant by Birth rate? 

 ¤Ó¨¦ ÂQu® Gß£uß ö£õ¸Ò GßÚ? 

5. State meant by Physical capital. 

 C¯Ø ‰»uÚ® Gß£uß ö£õ¸Ò TÖ. 

6. Write the meaning of unemployment. 

 ÷Áø»°ßø© Gß£uß ö£õ¸Ò GÊxP. 
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7. What is meant by small scale industry? 

 ]Ö öuõÈÀ {ÖÁÚ[PÒ Gß£uß ö£õ¸Ò ¯õx? 

8. Expansion for SSI. 

 SSI Gß£uß Â›ÁõUP®. 

9. Specify the long-term objectives of five-year plans in 
India. 

 C¢v¯ I¢uõsk vmh[PÎß }shPõ» ÷|õUP[PøÍ 
SÔ¨¤kP. 

10. Short note: 12th five year plan. 

 12Áx I¢uõsk vmh® ]ÖSÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the economic determinants of economic 
growth? 

  ö£õ¸Íõuõμ ÁÍºa]ø¯ wº©õÛUS® ö£õ¸ÍõuõμU 
PõμoPÒ ¯õøÁ? 

Or 

 (b) State the main features of underdevelopment. 

  ö£õ¸Íõuõμ •ß÷ÚØÓzvß •UQ¯ C¯À¦PøÍU 
TÖP. 

12. (a) What are the objectives of human resource 
development? 

  ©Ûu ÁÍ •ß÷ÚØÓzvß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Explain the population policy of India. 

  C¢v¯ ©UPm öuõøP öPõÒøP°øÚ ÂÍUSP. 
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13. (a) List out the main reasons for low capital formation 
in India. 

  C¢v¯õÂÀ SøÓ¢u ‰»uÚ vμm]UPõÚ 
Põμn[PøÍ £mi¯¼kP. 

Or 

 (b) Explain the significance of human capital 
formation. 

  ©Ûu ‰»uÚz vμmiß •UQ¯zxÁ[PøÍ ÂÍUSP. 

14. (a) Brief about the new industrial policy 1991. 

  1991 ¦v¯ öuõÈØ öPõÒøP £ØÔ _¸[P TÖP. 

Or 

 (b) What are the roles of SSI in Indian Economy? 

  C¢v¯¨ ö£õ¸ÍõuõμzvÀ SSI ß £[S GßÚ? 

15.  (a) What are the problems of India’s Five-year plan? 

  C¢v¯ I¢uõsk vmh[PÎß ¤μa\øÚPÒ ¯õøÁ? 

Or 

 (b) List out the objectives of Economic Planning. 

  ö£õ¸Íõuõμ vmhªh¼ß SÔU÷PõÒPøÍ 
£mi¯¼kP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Analysis the basis of IInd Generation reforms of Indian 
Economy. 

 C¢v¯õÂÀ 2Áx uø»•øÓ ^ºv¸zu[PÎß 
Ai¨£øhø¯¨ £Szuõ´P. 

17. Discuss the problems of Human Resource development. 

 ©Ûu ÁÍ •ß÷ÚØÓzvØPõÚ ¤μa\øÚPøÍ ÂÁõv. 
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18. Evaluate the Government policy on employment. 

 ÷Áø»Áõ´¨¦ £ØÔ¯ Aμ]ß öPõÒøP°øÚ ©v¨¥k 
ö\´P. 

19. Describe the problems faced by the Small Scale industries 
and suggest remedial measures. 

 ]ÖöuõÈÀ {ÖÁÚ[PÐUS HØ£k® ]μ©[PøÍ²® ©ØÖ® 
AuØPõÚ wºÄ •øÓPøÍ²® ÂÁ›UP. 

20. Summarize the achievements and failures of Indian 
planning. 

 C¢v¯ vmhªh¼À \õuøÚPøÍ²® ©ØÖ® ÃÌa]PøÍ²® 
öuõSzxøμUP.  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by Investment? 

 •u½k GßÓõÀ GßÚ? 

2. Draw the slope of IS and LM curves. 

 IS ©ØÖ® LM ÁøÍ÷PõkPÎß Aø©¨ø£ ÁøμP. 

3. What are the forms of money? 

 £nzvß ÁiÁ[PÒ ¯õøÁ? 

4. State the term monetary policy. 

 £nÂ¯À öPõÒøP GßÓ ö\õÀø» £ØÔ TÖP. 

5. Mention the views of Keynes on fiscal policy. 

 {vU öPõÒøP £ØÔ Rßêß P¸zxUPøÍ ÂÍUSP. 

6. Why fiscal policy is ineffective in the classical model? 

 öuõßø© ÷Põm£õmiÀ {vU öPõÒøP Hß £¯ÚØÓx? 

Sub. Code 
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7. What do you mean by business cycle? 

 ÁoP _ÇØ] GßÓõÀ GßÚ? 

8. State the assumptions of Keynesian theory of business 
cycle. 

 ÁoP _ÇØ]°À Rßêß ÷Põm£õmiß AÝ©õÚ[PøÍ 
TÓÄ®. 

9. Mention the sources of growth. 

 ÁÍºa]UPõÚ Buõμ[PøÍU SÔ¨¤hÄ®. 

10. How technology affects economic growth? 

 öuõÈÀ ~m£® ö£õ¸Íõuõμ ÁÍºa]ø¯ GÆÁõÖ 
£õvUQÓx. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write a short note on money supply and the interest 
rate. 

  £n AÎ¨¦ ©ØÖ® Ámi ÂQu® £ØÔ J¸ ]Ö 
SÔ¨¦ GÊxP. 

Or 

 (b) Explain the shifting of the LM curve. 

  LM ÁøÍ÷Põk |PºÄ £ØÔ ÂÍUSP.  

12. (a) Narrate the instruments of monetary policy. 

  £nÂ¯À öPõÒøP°ß P¸ÂPøÍ ÂÁ›UPÄ®. 

Or 

 (b) Explain Keynesian theory of money demand. 

  Rßêß £nz÷uøÁ ÷Põm£õmøh ÂÍUSP. 
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13. (a) Describe the instruments of fiscal policy. 

  {vU öPõÒøP°ß P¸ÂPøÍ ÂÁ›UPÄ®. 

Or 

 (b) Write a note on fiscal expansion. 

  {v Â›ÁõUP® £ØÔ J¸ SÔ¨¦ GÊxP. 

14. (a) What are the macro economic variables? 

  ÷£›¯À ö£õ¸Íõuõμ ©õÔPÒ ¯õøÁ? 

Or 

 (b) Explain the views of classical theory on business 
cycle. 

  ÁoP _ÇØ] £ØÔ öuõßø© ÷Põm£õmiß 
P¸zxUPøÍ ÂÍUSP. 

15. (a) Write a note on capital and growth. 

  ‰»uÚ® ©ØÖ® ÁÍºa] £ØÔ SÔ¨¦ GÊxP. 

Or 

 (b) Narrate the importance of total factor productivity. 

  ö©õzu Põμo EØ£zv vÓÛß •UQ¯zxÁzøu 
ÂÁ›UPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the determinants of investment. 

 •u½mk £o°øÚ {ºn°US® PõμoPøÍ ÂÍUSP. 

17. Evaluate the various functions of money. 

 £nzvß £À÷ÁÖ ö\¯À£õkPøÍ ©v¨¥k ö\´P. 
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18. Examine IS-LM model and fiscal policy. 

 IS-LM ©õv› ©ØÖ® {vU öPõÒøP £ØÔ Bμõ´P. 

19. Discuss the different phases of business cycle. 

 ÁoP _ÇØ]°ß £»ÁøP¯õÚ {ø»PøÍ ÂÁõvUPÄ®. 

20. Analyse the various sources of economic growth. 

 ö£õ¸Íõuõμ ÁÍºa]UPõÚ £À÷ÁÖ Buõμ[PÒ £ØÔ 
B´Ä ö\´P.  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Differentiation? 

 ÁøP±k GßÓõÀ GßÚ? 

2. The total cost function is 221260 xxTC +−= . Find the 
MC. 

 ö©õzu ö\»ÂÚ \õº¦ 221260 xxTC +−=  GÛÀ MC ø¯ 
PõsP. 

3. What is the meaning of second-order derivative? 

 CμshõÁx ÁøP±mkU öPÊ ö£õ¸Ò ¯õx? 

4. Define point of inflection. 

 Fk¸ÁÀ ¦ÒÎ Gß£øu Áøμ¯Ö. 
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5. Write the difference between differentiation and partial 
differentiation. 

 ÁøP±miØS® ©ØÖ® £Sv ÁøP±miØS©õÚ ÷ÁÖ£õmøh 
GÊxP. 

6. What about a function of one variable (x)? 

 (x) J¸ ©õÔUPõÚ \õº¦ ¯õx? 

7. If ( )yxU ,= , find dU . 

 ( )yxU ,=  GÛÀ dU  ø¯U PõsP. 

8. What is Producer Equilibrium? 

 EØ£zv¯õÒ \©{ø» GßÓõÀ GßÚ? 

9. Expansion for LPP. 

 LPP ß Â›ÁõUP®. 

10. Give the mathematical formulation of the LPP. 

 LPP UPõÚ PnUQ¯À E¸ÁõUP® ÁÇ[SP. 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) What is an example of derivative of polynomial 
functions? 

  £À¾¸÷PõøÁ \õº¤ß ÁøP±miØPõÚ GkzxUPõmk 
¯õx? 

Or 

 (b) If 42 32 =++ yxyx , find dxdy / . 

  42 32 =++ yxyx  GÛÀ, dxdy /  ø¯ PõsP. 
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12. (a) Identify what is to be maximized or minimized and 
what the constraints are. 

  «¨ö£¸ ©ØÖ® «a]Ö ©v¨¦ GßÚ Gß£x £ØÔ TÔ 
©ØÖ® Auß Pmk£õkPÒ ¯õøÁ? 

Or 

 (b) A function is defined as 3xy = . Find 2

2

dx
yd

. 

  J¸ \õº¦ 3xy =  GÚ Áøμ¯ÖUP¨£mkÒÍx,  

2

2

dx
yd

 ø¯ PõsP. 

13. (a) How do you differentiate a function with two 
variables? 

  J¸ \õº¦ C¸ ©õÔPÐøh¯uõÚõÀ G¨£i ÁøP±k 
ö\´Áõ´? 

Or 

 (b) If ( ) ( )2
2

2
121 log xxxx += . Find the second order partial 

derivatives. 

  ( ) ( )2
2

2
121 log xxxx +=  GÛÀ, C¸£i £Sv 

ÁøP±miøÚ Psk¤i. 

14. (a) What are the functions of economic optimization? 

  ö£õ¸Íõuõμ Ea\{ø»£kzu¼ß £oPÒ ¯õøÁ? 

Or 
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 (b) 223 43 xyxxZ ++= . Find the values of 
dx
dZ

, 2dx
dZ

 , 

dy
dZ

 and 2

2

dy
Zd

. 

  223 43 xyxxZ ++= , 
dx
dZ

, 2dx
dZ

, 
dy
dZ

 ©ØÖ® 2

2

dy
Zd

 

©v¨ø£ PõsP. 

15.  (a) Discuss the parts of the Linear Programming 
problem. 

  ÷|º÷Põmkz vmhªhÀ PnUQß £SvPøÍ ÂÁõv. 

Or 

 (b) The per unit contribution would be Rs.40, Rs.12 and 
Rs.16 respectively for product 1, 2, 3. Formulate the 
objective function (maximize) of Linear 
Programming. 

  1, 2, 3 GßÓ ö£õ¸ÒPÐUPõÚ J¸ A»QØPõÚ 
Âø»PÒ •øÓ÷¯ ¹.40, ¹.12 ©ØÖ® ¹.16 GÛÀ 
÷|º÷Põmk PnUQß ÷|õUP \õº¦ (AvP£m\®) 
PnUQkP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. The Total Cost Function of a firm is given by 
10109.004.0 23 ++−= qqqC . Find  

 (a) Average Cost (AC)  

 (b)  Marginal Cost (MC) and  

 (c)  Slope of Average Cost. 
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 J¸ {ÖÁÚzvß ö©õzu ö\»Ä \õº¦ Gß£x 

10109.004.0 23 ++−= qqqC . Psk¤i 

 (A) \μõ\› ö\»Ä (AC) 

 (B) CÖv{ø» ö\»Ä (MC) ©ØÖ®  

 (C) \μõ\› ö\»ÄU ÷Põmiß \›Ä. 

17. Given the cost function ( ) 15136 23 ++−= xxxxC , find the 

minimum marginal cost. 

 öPõkUP¨£mkÒÍ ö\»Ä \õº¦ ( ) 15136 23 ++−= xxxxC . 

SøÓ¢u£m\ CÖv{ø» ö\»øÁ PõsP. 

18. Find the total differential of the function  

 2
221

2
1 2 bxxhxaxy ++=  

 \õº¤ØPõÚ ö©õzu ÁøP±miøÚ PõsP   
2
221

2
1 2 bxxhxaxy ++=  

19. A consumer consumes only two goods X and Y. The 
consumer choose a combination of two good with 
marginal utility of X equal to 30 and that of Y equal to 20. 
If price of good X is Rs. 6 per unit, then what will be price 
of good Y at the point of consumer’s equilibrium? 

 J¸ ~Pº÷Áõº X ©ØÖ® Y ö£õ¸øÍ ©mk© ~PºÄ 
ö\´QÓõº. C¸ ö£õ¸ÒPÐUPõÚ CÖv{ø» £¯ß£õk  

X = 30 ©ØÖ® Y = 20 GßÓ ÂQuzuÀ EÒÍx. X 

£shzvÀ Âø» ¹. 6 GÛÀ Y GßÓ £shzvß G¢u 

Âø»°À ~Pº÷Áõº \©{ø» HØ£k®? 
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20. Solve the following LPP graphically. 

 Minimize 21 116 xxC +=  

 Subject to the constraints 

  

.0,

762

1042

21

21

21

≥
≥+
≥+

xx

xx

xx

 

 ¤ßÁ¸® ÷|º÷Põmk |hÁiUøPU PnURmiØS Áøμ£h® 
‰»® wºÄ PõsP. 

 SøÓ¢u£m\©õÚx 21 116 xxC +=  

 Áøμ¯øÓUSm£mhx  

  

.0,

762

1042

21

21

21

≥
≥+
≥+

xx

xx

xx

 

———————— 



  

S–5160   

B.A. DEGREE EXAMINATION, NOVEMBER 2024 

Economics 

Allied – MONEY AND BANKING 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Differentiate Money and Near Money. 

 £n® ©ØÖ® A¸ø© £nzøu ÷ÁÖ£kzxP. 

2. List out the principle of note-issue. 

 £n öÁÎ±mk ÂvPøÍ £mi¯¼kP. 

3. Write the meaning of the price level. 

 Âø»©mh® Gß£uß ö£õ¸Ò GÊxP. 

4. How can define the term ‘supply of money’? 

 £nzvß AÎ¨¦ GßÓ P¸zøu G¨£i Áøμ¯ÖUP 
C¯¾®? 

5. What is meant by Bank? 

 Á[Q Gß£x ¯õx? 

6. Which commercial bank was nationalized in the first 
phase in India? 

 C¢v¯õÂÀ •uÀPõ» {ø»°À ÷u]¯©¯©õUP¨£mh 
ÁoPÁ[Q Gx? 
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7. Define the Central Bank. 

 ø©¯Á[Q Gß£øu Áøμ¯Ö. 

8. What is the meaning of credit control? 

 Phß Pmk£õk Gß£x ¯õx? 

9. What is meant by Monetary Policy? 

 £nÂ¯Ø öPõÒøP GßÓõÀ GßÚ? 

10. Write the meaning of ATM. 

 ATM Gß£x £ØÔ GÊxP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Give the classification of Money. 

  £nzvß ÁøP¨£õmiøÚ ÁÇ[SP. 

Or 

 (b) What are the qualities of a good money? 

  J¸ |À» £nzvØPõÚ uSvPÒ ¯õøÁ? 

12. (a) What are the motives for demand for money? 

  £nz ÷uøÁUPõÚ ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Which factors are determinants of the money supply 
in an economy? 

  ö£õ¸ÍõuõμzvÀ £n AÎ¨¤øÚ wº©õÛUS® 
PõμoPÒ GøÁ? 
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13. (a) What are the reasons for failures of Nationalization 

of Banks in India? 

  C¢v¯õÂÀ ÷u]¯©¯©õUP¨£mh Á[QPÒ 

ÃÌa]UPõÚ Põμn[PÒ ¯õøÁ? 

Or 

 (b) Give the recent developments in Banking Sector in 

India. 

  C¢v¯õÂÀ Á[Q xøÓ°ß uØ÷£õøu¯ 

ÁÍºa]°øÚ ÁÇ[SP. 

14. (a) Explain the principal instruments of Monetary 

Policy? 

  £nÂ¯Ø öPõÒøP°ß £À÷ÁÖ Ai¨£øh 

P¸ÂPøÍ £ØÔ ÂÍUSP. 

Or 

 (b) Point out the methods of Selective Credit Control. 

  ÷uº¢öukUP¨£mh Phß Pmk£õmk•øÓ°øÚ 

Á›ø\¨£kzxP. 

15.  (a) List out the various merits and demerits of Online 

Banking. 

  Cøn¯ÁÈ Á[Q°ß £À÷ÁÖ {øÓ ©ØÖ® 

SøÓPøÍ Á›ø\¨£kzxP. 

Or 

 (b) Discuss the reforms in Banking Sectors. 

  Á[QzxøÓPÎÀ ^ºv¸zu[PøÍ¨ £ØÔ ÂÁõv. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Examine the merits and demerits of Paper Currency 

Standard. 

 PõQu £n•øÓ°ß {øÓPÒ ©ØÖ® SøÓPøÍ Bμõ´P. 

17. Describe the various causes for inflation. Explain the 

effects of inflation. 

 £nÃUPzvØPõÚ £À÷ÁÖ Põμn[PøÍ ÂÁ›UP. 

£nÃUPzvß ÂøÍÄPøÍ ÂÍUSP. 

18. Examine the various functions of a Commercial Bank. 

 ÁoP Á[QPÎß £À÷ÁÖ¨ £oPøÍ Bμõ´P. 

19. Describe the important functions of a Central Bank. 

 ø©¯Á[Q°ß •UQ¯©õÚ £oPøÍ £ØÔ ÂÁ›UP. 

20. Write the various functions of a Money Market. Discuss 

the characteristics of a Developed Money Market. 

 £n A[Põi°ß £À÷ÁÖ £oPøÍ GÊxP. ÁÍº¢u  

£n A[Põi°ß Snõv\¯[PøÍ ÂÁõv. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. List out the role of money 

 £nzvß £[øP £mi¯¼k 

2. Define money 

 £n® Áøμ¯ÖUP 

3. What is the value of money? 

 £nzvß ©v¨¦ GßÚ? 

4. What is Fisher’s quantity theory? 

 L¤å›ß AÍÄ ÷Põm£õk GßÚ? 

5. List out the functions of commercial banks. 

 ÁoP Á[QPÎß ö\¯À£õkPøÍ £mi¯¼kP 

6. How do commercial banks create credit? 

 ÁoP Á[QPÒ GÆÁõÖ PhøÚ E¸ÁõUSQßÓÚ? 

Sub. Code 
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7. What is the need of credit control? 
 Phß Pmk¨£õmiß AÁ]¯® GßÚ? 

8. What are the objectives of the central bank? 
 ©zv¯ Á[Q°ß ÷|õUP[PÒ GßÚ? 

9. Write a short note on RBI 
 ›\ºÆ Á[Q £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP 

10. What are the different types of credit cards? 
 £À÷ÁÖ ÁøP¯õÚ Phß AmøhPÒ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the principles on which note issues should 
be regulated in a country. 

  J¸ |õmiÀ G¢u ÁøP¯õÚ £n AÎ¨ø£ 
JÊ[S£kzu¨£h ÷Ásk® Gß£øu ÂÍUSP 

Or 

 (b) What are the qualities of good money? Explain. 
  |À» £nzvß Sn[PÒ GßÚ? ÂÁ›UP 

12. (a) Explain in what sense and how Keynes made an 
improvement on the old quantity theory of money. 

  öP´ßì Guß Ai¨£øh°À £øÇ¯ £n AÍÂß 
Ai¨£øh°À ©ØÖ® G¨£i •ß÷ÚØÓ® Gß£øu 
ÂÍUSP 

Or 

 (b) What is Fisher’s quantity theory? What 
improvements were made by the Cambridge 
economists in quantity theory? 

  L¤å›ß AÍÄ ÷Põm£õk GßÚ? AÍÄ 
÷Põm£õmiÀ ÷P®¤›mä ö£õ¸Íõuõμ ÁÀ¾|ºPÍõÀ 
GßÚ ÷©®£õkPÒ ö\´¯¨£mhÚ? 
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13. (a) Discuss the role that banks play in promoting the 
economic growth of a country. 

  J¸ |õmiß ö£õ¸Íõuõμ ÁÍºa]ø¯ 
÷©®£kzxÁvÀ Á[QPÒ ÁQUS® £[øP¨ £ØÔ 
ÂÁõvUP 

Or 

 (b) “Commercial banks aim at resolving conflict 
between liquidity and profitability” comment. 

  “ÁoP Á[QPÒ £n¨¦ÇUPzvØS® »õ£zvØS® 
Cøh°»õÚ ÷©õuø»z wº¨£øu ÷|õUP©õPU 

öPõskÒÍÚ” P¸zx 

14. (a) Examine the different weapons by which the  
Central bank regulates the total volume of money in 
circulation 

  ¦ÇUPzvÀ EÒÍ £nzvß ö©õzu AÍøÁ ©zv¯ 
Á[Q Pmk¨£kzu® £À÷ÁÖ B²u[PøÍ B´Ä 
ö\´P 

Or 

 (b) Examine the efficacy of qualitative credit controls 

  uμ©õÚ Phß Pmk¨£õkPÎß ö\¯ÀvÓøÚ Bμõ´P 

15.  (a) Enunciate the recent developments in banking 
sectors. 

  Á[Qz xøÓPÎÀ \«£zv¯ •ß÷ÚØÓ[PøÍ 
ÂÁ›UP  

Or 

 (b) How has RBI saved the Indian economy? 

  C¢v¯¨ ö£õ¸Íõuõμzøu G¨£i ›\ºÆ Á[Q 
Põ¨£õØÔ¯x? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Elucidate the role of money in a mixed economy. 

 P»¨¦ ö£õ¸ÍõuõμzvÀ £nzvß £[øP öuÎÄ£kzxP 

17. What is the nature of inflation in a developing economy? 
Is it inevitable? Discuss. 

 ÁÍ¸® ö£õ¸ÍõuõμzvÀ £nÃUPzvß ußø© GßÚ? 
Cx uÂºPP •i¯õuuõ? ÂÁõvUP 

18. What are the recent trends in growth of commercial 
banking since nationalization? 

 ÷u]¯©¯©õUP¾US¨ ¤ÓS ÁoP Á[Q°ß ÁÍºa]°ß 
\«£zv¯ ÷£õUSPÒ GßÚ? 

19. Critically examine the role and functions of RBI in the 
Indian economy 

 C¢v¯¨ ö£õ¸ÍõuõμzvÀ ›a\ºÆ Á[Q°ß £[S ©ØÖ® 
ö\¯À£õkPøÍ Â©º\Ú Ÿv¯õP Bμõ´P 

20. Reckon the demonetization 2016 and its impact on Indian 
economy 

 £n©v¨¤Ç¨¦ 2016 ©ØÖ® C¢v¯¨ ö£õ¸ÍõuõμzvÀ 
Auß uõUPzøu¨ Gso¨£õ¸[PÒ 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the term of international trade. 

 \ºÁ÷u\ ÁºzuP® GßÓ £uzøu Áøμ¯ÖUP. 

2. What are three classical theories of international trade? 

 \ºÁ÷u\ ÁºzuPzvß ‰ßÖ £õμ®£›¯ ÷Põm£õkPÒ 
¯õøÁ? 

3. Define the term of balance of trade. 

 ÁºzuP \©{ø» GßÓ £uzøu Áøμ¯ÖUP. 

4. What do you mean by foreign aid? 

 öÁÎ|õmk EuÂ GßÓõÀ GßÚ? 

5. What is called foreign exchange market. 

 A¢{¯a ö\»õÁo A[Põi GßÖ AøÇUP¨£kQÓx? 

6. Mention the functions of the foreign exchange market. 

 A¢{¯a ö\»õÁo A[Põi°ß ö\¯À£õkPøÍU 
SÔ¨¤k. 

Sub. Code 
22BAE5C2 



S–5162 

  

  2

7. Write a note of IMF. 

 IMF Cß SÔ¨¦ ÁøμP. 

8. Expansion of GATT. 

 GATT Cß Â›ÁõUP®. 

9. How does international trade help in economic 
development? 

 ö£õ¸Íõuõμ ÁÍºa]US \ºÁ÷u\ ÁºzuP® GÆÁõÖ 
EuÄQÓx? 

10. What are the directions of foreign trade in economics? 

 ö£õ¸Íõuõμ ÁÍºa]US \ºÁ÷u\ ÁºzuP® GÆÁõÖ 
EuÄQÓx?  

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) Evaluate Absolute advantage theory of 
international trade. 

  \ºÁ÷u\ ÁºzuPzvß •Êø©¯õÚ |ßø©U 
÷Põm£õmøh ©v¨¤kP. 

Or 

 (b) Distinguishes between internal and international 
trade. 

  EÒ|õmk ©ØÖ® \ºÁ÷u\ ÁºzuPzøu 
÷ÁÖ£kzvUPõmk. 

12. (a) Explain the role of foreign aid in economic 
development. 

  ö£õ¸Íõuõμ ÁÍºa]°À öÁÎ|õmk EuÂ°ß 
£[øP ÂÍUSP. 

Or 

 (b) Distinguishes between BOP and BOT. 

  BOP ©ØÖ® BOT US Cøh°À ÷ÁÖ£õkPøÍz 
u¸Â. 
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13. (a) What are the factors determining the equilibrium of 
the exchange rate? Explain. 

  ©õØÖ ÂQuzvß \©{ø»ø¯ {ºn°US® PõμoPÒ 
¯õøÁ? ÂÁ›UP. 

Or 

 (b) Differences between fixed and flexible exchange 
rate. 

  {ø»¯õÚ ©ØÖ® ö|QÌÁõÚ ©õØÖ ÂQuzvØS 
Cøh°»õÚ ÷ÁÖ£õkPøÍ ÂÁ›UP. 

14. (a) Evaluate IMF and its impact on Indian economy. 

  IMF ©ØÖ® C¢v¯¨ ö£õ¸ÍõuõμzvÀ Auß 
uõUPzøu ©v¨¥k ö\´P. 

Or 

 (b) Explain the new development bank BRICS. 

  ¦v¯ ÁÍºa] Á[Q¯õÚ BRICS £ØÔ ÂÍUSP. 

15.  (a) Describe the India’s foreign trade. 

  C¢v¯õÂß öÁÎ|õmk ÁºzuPzøu ÂÁ›UP. 

Or 

 (b) Enunciate the recent trends in India’s foreign trade 
and economic development. 

  C¢v¯õÂß öÁÎ|õmk ÁºzuP® ©ØÖ® 
ö£õ¸Íõuõμ ÁÍºa]°ß \«£zv¯ ÷£õUSPøÍ 
ÂÁ›UP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Critically evaluate the comparative cost advantage theory 
of international trade. 

 \ºÁ÷u\ ÁºzuPzvß J¨¥mk ö\»Ä |ßø©U 
÷Põm£õmøh Â©º\Ú Ÿv¯õP ©v¨¥k ö\´P. 
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17. Elucidate the components of balance of payments. 

 öPõk¨£ÚÄPÎß C¸¨¦ TÖPøÍ öuÎÄ£kzuÄ®. 

18. Critically examine the purchasing power parity theory. 

 Áõ[S® \Uv \©{ø»U ÷Põm£õmøh Â©º\Ú Ÿv¯õP 
Bμõ´P. 

19. Narrate the international financial institutions. 

 \ºÁ÷u\ {v {ÖÁÚ[PøÍ ÂÁ›UP. 

20. Discuss the foreign trade policy in India. 

 C¢v¯õÂß öÁÎ|õmk ÁºzuPU öPõÒøPø¯¨ £ØÔ 
ÂÁõvUP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by agriculture? 

 ÷ÁÍõsø© GßÖ Gøua ö\õÀQÕºPÒ? 

2. Mention the few problems in agriculture. 

 ÷ÁÍõsø©°À EÒÍ ]» ¤μa\øÚPøÍ SÔ¨¤k. 

3. What do you mean by agriculture labour? 

 ÷ÁÍõs öuõÈ»õÍºPÒ GßÓõÀ GßÚ? 

4. Mention the types of agricultural labour. 

 ÷ÁÍõsø©z öuõÈ»õÍºPÎß ÁøPPøÍU SÔ¨¤k. 

5. What do you mean by land ceiling? 

 {» Ea\Áμ®¦ GßÓõÀ GßÚ? 

6. Write a short note on organic farming. 

 C¯ØøP ÷ÁÍõsø© £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 
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7. What is the need of agricultural finance? 

 ÷ÁÍõs {v°ß ÷uøÁ GßÚ? 

8. Write a short note of regional rural banks. 

 ©sh» Qμõ©¨¦Ó Á[QPÒ ]Ö SÔ¨¦ ÁøμP. 

9. Write a short note on agricultural price commission. 

 ÷ÁÍõs Âø»U SÊ ]Ö SÔ¨¦ ÁøμP. 

10. Write a short note on food security. 

 EnÄ £õxPõ¨¦ £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Discuss the importance of agriculture in the 
economy in India. 

  C¢v¯õÂß ö£õ¸ÍõuõμzvÀ ÷ÁÍõsø©°ß 
•UQ¯zxÁzøu¨ £ØÔ ÂÁõvUP. 

Or 

 (b) Explain the characteristics of Indian agriculture. 

  C¢v¯ ÷ÁÍõsø©°ß ]Ó¨¤¯À¦PøÍ ÂÍUSP. 

12. (a) What are the problems faced by agricultural 
labourers? Briefly explain. 

  ÷ÁÍõsø©z öuõÈ»õÍºPÒ \¢vUS® ¤μa\øÚPÒ 
GßÚ? _¸UP©õP ÂÍUSP. 

Or 

 (b) Describe the types and characteristics of 
agricultural labour. 

  ÷ÁÍõsø©z öuõÈ»õÍºPÎß ÁøPPÒ ©ØÖ® 
£s¦PøÍ ÂÁ›UP. 
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13. (a) What are the factors affecting cropping pattern? 
Explain it. 

  £°ºaö\´øP •øÓø¯¨ £õvUS® PõμoPÒ 
¯õøÁ? Aøu ÂÍUSP. 

Or 

 (b) Briefly explain the organic farming practices.  
  C¯ØøP ÷ÁÍõsø© •øÓPøÍ _¸UP©õP ÂÍUSP. 

14. (a) Give an account of NABARD and its functions. 

  |£õºk Á[Q°ß Aø©¨¦ ©ØÖ® Auß 
ö\¯À£õkPøÍ ÂÁ›UP. 

Or 

 (b) Analyse the role of cooperative in rural finance. 

  Qμõ©¨¦Ó {v°À TmkÓÄ £[øP £S¨£õ´Ä 
ö\´P. 

15.  (a) What is a Buffer stock operation? Indicate its 
limitations. 

  Âø» {ø»¨£kzx® C¸¨¦a ö\¯À£õk GßÓõÀ 
GßÚ? Auß Áμ®¦PøÍU SÔUP. 

Or 

 (b) Make a critical evaluation of agricultural price 
policy. 

  ÷ÁÍõs Âø»U öPõÒøP°ß •UQ¯zxÁzøu 
©v¨¥k ö\´P. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Analyse the role of agriculture in economic development. 

 ö£õ¸Íõuõμ ÁÍºa]°À ÷ÁÍõsø©°ß £[øP 
£S¨£õ´Ä ö\´P. 
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17. Examine agricultural labour and its place in the 
economy. 

 ÷ÁÍõs öuõÈ»õÍºPøÍ Bμõ´¢x AÁºPÎß 
£[PÎ¨ø£ ÂÁ›UP. 

18. Critically evaluate the causes of low productivity in 
agriculture. 

 ÷ÁÍõsø©°À SøÓ¢u EØ£zvUPõÚ Põμn[PøÍ 
Â©º\Ú Ÿv¯õP ©v¨¥k ö\´P. 

19. Examine the role of regional rural banks in agricultural 
finance. 

 ÷ÁÍõsø© {v°À ©sh» Qμõ©¨¦Ó Á[QPÎß £[øP 
Bμõ´P. 

20. Analyse the defects of Public distribution system in India. 

 C¢v¯õÂÀ ö£õx Â{÷¯õP •øÓ°ß SøÓ£õkPøÍ 
£S¨£õ´Ä ö\´P. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the term of dialectical Materialism. 

 C¯[Q¯À ö£õ¸Ò •uÀÁõuzvß ö\õÀø» Áøμ¯ÖUP. 

2. What is Marx’s theory of value? 

 ©õºU]ß ©v¨¦U ÷Põm£õk GßÚ? 

3. What is Bohm Bawerk’s theory of capital? 

 £õ® £ÁºQß ‰»uÚU ÷Põm£õk GßÚ?  

4. Write a short note circulation of wealth. 

 ö\ÀÁ _ÇØa] £ØÔ¯ J¸ ]Ö SÔ¨¦ ÁøμP.  

5. Define the term of general equilibrium. 

 ö£õxa \©{ø» GßÓ £uzøu Áøμ¯ÖUP. 

6. What is the Ricardian value theory? 

 ›Põºi¯ß ©v¨¦U ÷Põm£õk GßÓõÀ GßÚ? 
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7. Define the term of stationary state in economics. 

 ö£õ¸ÍõuõμzvÀ {ø»¯õÚ {ø» GßÓ £uzøu 
Áøμ¯ÖUP. 

8. What do you mean by production? 

 EØ£zv GßÓõÀ GßÚ? 

9. Write a short note of Welfare economics. 

 |»ß¦› ö£õ¸Íõuõμ® £ØÔ¯ ]Ö SÔ¨¦ ÁøμP. 

10. What is meant by rational expectations? 

 £SzuÔÄ Gvº£õº¨¦PÒ GßÓõÀ GßÚ?  

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Describe the relationship between Mercantilism and 
price stability 

  ÁoPzvØS® Âø» {ø»zußø©US® Cøh÷¯ 
EÒÍ öuõhºø£ ÂÁ›UP. 

Or 
 (b) What is Dialectical Materialism according to 

Marxian Economics? 

  ©õºU]¯¨ ö£õ¸Íõuõμzvß £i C¯[Q¯À 
ö£õ¸Ò•uÀÁõu® GßÓõÀ GßÚ? 

12. (a) Briefly explain the idea of a natural economic order 
as envisioned by the Physiocrats. 

  ¤]÷¯õQμõmPÍõÀ PØ£øÚ ö\´¯¨£mh 
C¯ØøP¯õÚ ö£õ¸Íõuõμ JÊ[S £ØÔ¯ P¸zøu 
_¸UP©õP ÂÍUSP. 

Or 
 (b) What is the significance of division of labor in Adam 

Smith’s theory? 

  Bh® ìªzvß ÷Põm£õmiÀ öuõÈ»õÍº £S¨¤ß 
•UQ¯zxÁ® GßÚ? 
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13. (a) Describe Walras’ Law and its significance within 
the context of general equilibrium theory. 

  ÁõÀμõêß Âv ©ØÖ® ö£õx \©{ø»U 
÷Põm£õmiß ¤ßÚo°À Auß •UQ¯zxÁzøu 
ÂÁ›UP. 

Or 

 (b) Explain the significance of Marshall’s concept of 
consumer surplus. 

  ~Pº÷Áõº E£› £ØÔ¯ ©õºå¼ß P¸zvß 
•UQ¯zxÁzøu ÂÍUSP. 

14. (a) Explain J.S. Mill’s distinction between production 
and distribution. 

  ÷á.Gì. ªÀ¼ß EØ£zvUS® £QºÂØS® Cøh÷¯ 
EÒÍ ÷ÁÖ£õmiøÚ ÂÁ›UP. 

Or 

 (b) Outline Mills views on how the government should 
influence the distribution of wealth. 

  ö\ÀÁ¨ £QºÂÀ Aμ\õ[P® GÆÁõÖ ö\ÀÁõUS 
ö\¾zu ÷Ásk® Gß£x SÔzu ªÀ¼ß 
P¸zxUPøÍ ÷PõimkU PõmkP. 

15.  (a) What is the Neo-classical view of market 
equilibrium? 

  A[Põia \©{ø»°ß {÷¯õ QÍõ]UPÀ £õºøÁ 
GßÚ? 

Or 

 (b) How did Keynes challenge the Classical view of 
unemployment? 

  ÷Áø»°À»õz vshõmh® £ØÔ¯ £õμ®£›¯ 
£õºøÁø¯ öP´ßì GÆÁõÖ \ÁõÀ ö\´uõº? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Critically analyze the Mercantilist approach to trade and 
its impact on the economies of the time. 

 ÁoPzvØPõÚ ÁoP AqS•øÓ ©ØÖ® AUPõ»¨ 
ö£õ¸Íõuõμ[PÎÀ Auß uõUPzøu Â©º\Ú Ÿv¯õP 
£S¨£õ´Ä ö\´P. 

17. Analyze the significance of Jevons’ theory in the context 
of the marginal revolution and its lasting influence on 
economic thought. 

 CÖv{ø»¨ ¦μm]°ß ¤ßÚo°À ã÷Áõßì 
÷Põm£õmiß •UQ¯zxÁzøu²® ö£õ¸Íõuõμ 
]¢uøÚ°À Auß }izu uõUPzøu²® £S¨£õ´Ä ö\´P. 

18. Discuss how Marshall’s ideas on consumer surplus and 
welfare laid the groundwork for later developments in 
welfare economics. 

 ~Pº÷Áõº E£› ©ØÖ® |»ß £ØÔ¯ ©õºå¼ß P¸zxUPÒ 
|»ß¦› ö£õ¸ÍõuõμzvÀ ¤ØPõ» ÁÍºa]PÐUS GÆÁõÖ 
AiuÍ® Aø©¢uÚ Gß£øu¨ £ØÔ ÂÁõvUP. 

19. Investigate how Mill’s views on distribution and social 
reforms reflect his broader concerns about equity and 
justice in a capitalist society. 

 £QºÄ ©ØÖ® \‰P ^ºzv¸zu[PÒ £ØÔ¯ ªÀ¼ß 
P¸zxUPÒ J¸ •u»õÎzxÁ \•uõ¯zvÀ \©zxÁ® 
©ØÖ® }v £ØÔ¯ AÁμx £μ¢u PÁø»PøÍ GÆÁõÖ 
¤μv£¼UQßÓÚ Gß£øu Bμõ´P. 

20. Discuss the role of Neo-classical economics in shaping 
modern microeconomic theory. 

 |ÃÚ ~sö£õ¸ÍõuõμU ÷Põm£õmøh ÁiÁø©¨£vÀ 
{÷¯õ QÍõ]UPÀ ö£õ¸Íõuõμzvß £[øP¨ £ØÔ 
ÂÁõvUP. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by gender development index? 

 £õ¼Ú¨ ö£õ¸Íõuõμ® £ØÔ }Âº AÔÁx ¯õx? 

2. What is human development index? 

 ©Ûu ÁÍºa]U SÔ±k GßÓõÀ GßÚ? 

3. Write a short note on state planning commission. 

 ©õ{» vmhUSÊ £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

4. Mention the few achievements of Tamil Nadu economy. 

 uªÇP¨ ö£õ¸Íõuõμzvß ]» \õuøÚPøÍU SÔ¨¤kP. 

5. What is cropping pattern? 

 £°›k® •øÓ GßÓõÀ GßÚ? 

6. What is agricultural marketing? 

 ÷ÁÍõsø© A[Põi¨£kzxuÀ GßÓõÀ GßÚ? 
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7. Define the term of large scale industries. 

 ö£›¯ AÍÂ»õÚ öuõÈÀPÒ GßÓ £uzøu Áøμ¯ÖUP. 

8. Write a note of labour welfare measures. 

 öuõÈ»õÍº |» |hÁiUøP ]Ö SÔ¨¦ ÁøμP. 

9. Write a short note on PDS. 

 ö£õx Â{÷¯õP •øÓ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

10. Mention the few welfare schemes in Tamil Nadu. 

 uªÌ|õmiÀ EÒÍ ]» |»zvmh[PøÍ SÔ¨¤kP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain demographic trends in Tamil Nadu. 
  uªÌ|õmiß ©UPÒ öuõøP ÷£õUSPøÍ ÂÍUSP. 

Or 

 (b) Narrate the population and the economic growth. 
  ©UPÒ öuõøP ©ØÖ® ö£õ¸Íõuõμ ÁÍºa]ø¯ 

ÂÁ›UP. 

12. (a) Enunciate the trends in Tamil Nadu state income. 
  uªÌ|õk ©õ{» Á¸©õÚzvß ÷£õUSPøÍ ÂÍUSP. 

Or 

 (b) Describe the growth dynamics of Tamil Nadu 
economy. 

  uªÇP¨ ö£õ¸Íõuõμzvß ÁÍºa]ø¯ ÂÁ›UP. 

13. (a) Explain the various sources of irrigation in Tamil 
Nadu. 

  uªÌ|õmiß £À÷ÁÖ }º¨£õ\Ú Buõμ[PøÍ 
ÂÁ›UP. 

Or 
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 (b) Briefly explains the agricultural marketing in Tamil 
Nadu. 

  uªÌ|õmiß ÷ÁÍõs ö£õ¸mPøÍ 
A[Põi¨£kzxuÀ £ØÔ _¸UP©õP ÂÁ›UP. 

14. (a) Explain the performance of large scale and small 
scale industries in Tamil Nadu. 

  uªÌ|õmiÀ ö£›¯ ©ØÖ® ]Ô¯ AÍÂ»õÚ 
öuõÈÀPÎß ö\¯ÀvÓøÚ ÂÁ›UP. 

Or 

 (b) Briefly explain the Khadhi and Village Industries 
Commission. 

  Põv ©ØÖ® Qμõ© öuõÈÀ Bøn¯zøu _¸UP©õP 
ÂÍUSP. 

15.  (a) Why does Tamil Nadu have such a poor transport 
system compared to other states in India? 

  C¢v¯õÂÀ EÒÍ ©ØÓ ©õ{»[PÐhß 
J¨¤k®÷£õx uªÌ|õmiÀ Hß CÆÁÍÄ ÷©õ\©õÚ 
÷£õUSÁμzx Aø©¨¦ EÒÍx? 

Or 

 (b) Explain the anti-poverty strategies in Tamil Nadu 
economy. 

  uªÌ|õk ö£õ¸ÍõuõμzvÀ ÁÖø© JÈ¨¦ EzvPøÍ 
ÂÍUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the natural resource endowment and human 
development: contemporary role of governance. 

 C¯ØøP ÁÍ[PøÍ AÎzuÀ ©ØÖ® ©Ûu ÁÍºa]°ß 
\©Põ» BÐø©¨ £[øP ÂÁ›UP. 
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17. Critically evaluate of the Tamil Nadu state family health 
survey. 

 uªÌ|õk ©õ{» Sk®£ |»U PnUöPk¨ø£ Â©º\Ú 
Ÿv¯õP ©v¨¥k ö\´P. 

18. Enunciate the regulated markets in Tamil Nadu. 

 uªÌ|õmiß JÊ[S£kzu¨£mh A[PõiPøÍ ÂÍUSP. 

19. Explain the trends and patterns of industrial growth in 
Tamil Nadu. 

 uªÌ|õmiß öuõÈÀ ÁÍºa] Auß ÷£õUS ©ØÖ® 
{ø»°øÚ ÂÍUSP. 

20. What are the main sources of energy in Tamil Nadu? 
Explain it. 

 uªÌ|õmiß •UQ¯ BØÓÀ Buõμ[PÒ GßÚ? AÁØøÓ 
ÂÍUSP. 

———————— 


